ID: 1

Name
Assignment Date Period____
Divide.
1) (3b® +3b%+45b) = 9b 2) (x*+5x% +2x3) = 10x>
3) (2v3 + 182 + 18V) =+ 6v 4) (2n* +2n® +20n?) = 4n?
5) (16x> +2x + 4x) = 4x 6) (5k*+20k> +2k?) + 10k
7) (4x* +24x3 +3x2) = 8x 8) (4a°+4a’+2a*)+10a
9) (4m* +2m? +2m) + 4m? 10) (2n® +24n? + 18n) + 6n*
11) (2p° +40p* +5p3) = 8p? 12) (27r3 +5r% +2r) + 9r?
13) (18x® +27x° + 18x*) + 9x> 14) (32n° +24n? + 5n) + 8n°
15) (b> + 4b? + 2b) + 4b° 16) (2x* +50x> + 5x) = 10x°
17) (12v7 + 6v® +2v°) = 6v° 18) (9n° +9n° +3n*) = 9n°
19) (9a® +4a” +9a) + 9a° 20) (18k> +24k> + 2k) + 6k
21) (4x3 + 12x% + 2x) + 4x° 22) (4x° +2x* +3x%) + 4%
23) (50n° +2n% +40n) + 10n 24) (2m> +4m? + 2m) = 8m
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Answers to Assignment (ID: 1)

b> b x? X 2 2

1 Vv n n
1) —+—-+5 2) —+—-+— 3) — +3v+3 4) —+—-+5
3 3 10 2 5 3 2 2
X k? k x> 3x 2> 2a* a’
5) 4x* +— +1 6) — +2k>+— 7) — +3x*+— 8) — +— +—
2 2 5 2 8 5 5 5
11 n 3 > 5 5 2
9 m+— +— 10) — +4+— 11)p—+5p2+—p 12) 3r+— +—
2 2m 3 n 4 8 9 Or
13) 2x* +3x% +2x° 3 5 11 1 1 5 1
) 14) 4+—+— 15) —+—+— 16) —+—+—
n 8n 4 b 2b 5 x  2X
.5V s, N 4 1 s 1
17) 2v7 + v’ +— 18) n” +n” + — 19) 1+—+— 20) 3k” +4k+—
3 3 9a a 3
301 x> 3X n m> m 1
21) 1+— +— 22) X} +— +— 23) 5n*+— +4 24) — +— +—
X 2X 2 4 5 4 2 4
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Assignment

Divide.

1) (6x* + x> + 6x2) = 6x

3) (2n* +4n° + 50n?) = 10n

5) (3n® + 16n> + 4n) = 4n

7) (4b* +3b® + 8b?) + 4b?

9) (4x3 +2x* + 8x) = 8x>

11) (a® +2a” + 6a) + 6a*

13) (30k> + 50k? + 3k) + 10k’
15) (9% +5x% + x) = 9x°

17) (4m° + 16m° + 8m*) = 8m°
19) (40x* +5x> + 10x?) + 10x°
21) (b* + 4b* + 4b?) + 8b?

23) (12n* +5n° + 16n2) + 4n?

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 2

Date Period

2) (12m3 +4m? + 3m) = 4m

4) (4p° +40p* + 4p) = 8p°

6) (24x° +24x% + 12x) = 6X

8) (45r* +9r° +45r%) = 9r

10) (10v3 + 5v% + 2v) = 10v?

12) (8x® + 16x* + 16x) + 8x*

14) (8p*+4p> +2p?) +4p°

16) (2n* +2n® +6n?) = 6n°

18) (4r® +12r% + 12r) = 4r®

20) (5n® + 10n? +2n) + 10n?

22) (2v3 + 18v? + 18v) + 6v°

24) (12x% + 18x2 + 3x) + 6x
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2
X
1) x*+— +x
6
3n?
5 — +4n+1
4

x 1 1
9) —+—+—
2 4 X

5 3
13) 3+— +
) k  10k?
3

m
17) — +2m?+m

b> b 1
21) — +— +—
8§ 2 2

Answers to Assignment (ID: 2)

3

2) 3m* +m+—
4

6) 4x> +4x+2
1 1

10) v+ — +—
2 5v

1
14) 2p+1+—
2p

3 3
18) 1+— +—
rr
3
2

1 3
22) —+—+
3 v v

LT wsgsgs ath-vsorlsheel ory

1
) 1+—+—
) 9x  9x*

1 1
19) 4x+— +—
2 X

5n
23) 3n? >y +4

I 5 1
4) —+—+—
2 p_2p

8) 5r* +r? +5r

2
12) x+2+—
X

n 1 1
16) — +— +—
3 3 n
n 1
—+1+—
2

20
) 5n

1
24) 2X+3+—
2X
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ID: 3

Name
Assignment Date Period____
Divide.
1) (9a° +36a> +27a) = 9a 2) (2k® + 5k? + 2k) = 10k
3) (x° +2x* +24x%) + 8x 4) (3x> + 5%% + 3x) + 4x
5) (18n° + 6n? +24n) =+ 6n 6) (5m* +5m?+2m) =+ 10m
7) (3p*+36p° +9p%) + 9p 8) (9% +3x% +2x) + 9x?
9) (20m* + m? +3m) + 4m? 10) (4x> +40x* + x) + 10x>
11) (12r° + 16r* + 16r°) = 4r? 12) (2n®+2n° +2n*) = 6n>
13) (40n® +4n° +2n*) = 8n° 14) (4b> + 40b? + 2b) = 8b°
15) (2v° +v* +Vv3) = 6V 16) (2x* + 4x% + 50x) = 10x°>
17) (16p® + 40p> +2p) + 8p> 18) (2k* + 3k? + 4k) + 6k
19) (18a° + 3a* + 45a%) + 9a° 20) (2x3 +2x2 + x) + 4x°
21) (10n* +10n* +2n?) + 10n 22) (8r* +40r> +8r?) +8r
23) (2m* +5m? +20m) = 10m 24) (8x* +2x3 +5x%) + 4x°
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Answers to Assignment (I1D: 3)

1) a’+4a+3 k> k 1
) 2) —+-+—
5 2 5
5) 3n +n+4 m> m 1
) 6) —+— +—
2 2 5
1 3 2X 1
9) Sm+—+— 10) — +4+—
4  4m 5 10x
2
n n 1 5 1
13) 5n° + — +— 14) —+—+—
2 4 2 b 4b
1 k* k 2
17) 2p+5+— 18) — +—+—
4p 32 3

n 22) r}+5r +r
21) n3+n2+§ )

-l
</ gsgsgs ath-wsrisheel.crg

43

3) — +— +3x
8 4
p2

7) ?+4p+1

11) 3r® +4r* + 4r

vioovo 1
15) — +—+—
3 6 6

a
19) 2a2+§ +5

m> m

23) — +— +2
5 2

1
16) — +
)5

1
20) — +
)2

) W
'_‘><|_‘><|N
=

5
24) 2X+— +—
24X
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ID: 4

Name
Assignment Date Period____
Divide.
1) (24n* +12n° +24n%) = 6n 2) (v* +45v° +45v%) + 9v
3) (12b* +4b3 +2b?) =+ 4b 4) (12x3 + 6x2 + 3x) =+ 6x
5) (6k> + 6k? + 2k) + 6k> 6) (2n® +5n% + 3n) + 8n°
7) (2a° +3a* + 8a%) + 44> 8) (9x* +3x% +9x?) = 9x
9) (18x* +3x + x?) + 9x? 10) (2m* +4m? + 6m) = 6m*
11) (5n° +18n? + 3n) = 9n? 12) (x* +5x% + 10x) + 10x>
13) (2n® +5n% +2n) + 10n° 14) (3b> + 3b? + 40b) = 8b°
15) (2x* +12x + 12x3) = 4% 16) (4p° +8p +3p)+4p°
17) (x° +18x* +4x%) + 6x° 18) (4b° +27b* + 18b%) + 9b?
19) (40r° +5r* +3r%) = 8r? 20) (n* + 10n> +40n?) + 10n
21) (30x* +3x> +2x2) = 6x 22) (4a® +20a + 20a) = 4a
23) (9v3 +3v? + 4v) + 9 24) (2x3 +2x2 + 16x) + 4x>
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1) 4n® +2n% +4n

1
5 k+1+—
3k

x 1
9) 2x* +— +—
3 9
1 1 1
13) —+—+—
) 5 2n  5n?
2

X 2
17) — +3x+—
6 3

2
X2 X
21) 5% +— +—
2 3

Answers to Assignment (ID: 4)

V3
2) y +5v% + 5v

n 5 3
6) —+— +—
4 8 8n

4 3
18)%+3b2+2b

22) a’+5a+5

LT wsgsgs ath-vsorlsheel ory

b
3) 3b* +b*+—
2

a3 2

7) —+—+2a
2 4
5n 1
11) — +2+—
9 3n

3
15) = 4342
2 X

r
19) 5r2+5— +i
8 8

1 4
23) 1+— +—
3v. 9v

1
4) 2% + X +—
2

2
X
8) X*+— +x

1 1
12)L+—+—
10 2 X
2 3
16) 1+— +—
p4p
n3
20) — +n?+4n
10

x 1 4
24) — +— +—
2 2 X
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Assignment

Divide.

1) (32x3 + 4x2 + 4x) + 8x

3) (k® + 50k? + k) + 10k

5) (5n° +3n° +5n*) + 6n?

7) (27 + 18x% + 3x) + 9x>
9) (5n* +30n? +50n) + 10n°
11) (23 +20x* + 50x) + 10x°
13) (4a’®+ 8a” +40a*) + 8a°
15) (x3 +2x2 + 4x) + 4x°

17) (3n3 +3n2 + 18n) = 9n?
19) (5m” +50m® +20m°) + 10m

21) (27r% +9r* +2r) + 9r

23) (3n* +6n° +6n?) = 6n

2 gegsus. path-worsheet.ory

Name

ID: 5

Date Period

2) (6n* +30n° +24n?) = 6n

4) (16p> +4p*+16p) = 8p

6) (4r® +8r2 +2r) + 4r?

8) (5m* +20m? +40m) = 10m

10) (16v® + 4v* +20v) + 4v?

12) (40b> + 8b? + 32b) + 8b>

14) (6k® + k? + 3k) = 6k*

16) (30x> + 18x% + 12x) + 6x°

18) (2p° +4p* +4p?) = 8p>

20) (4x3 +20x% + 16x) + 4%

22) (20b3 +20b? + 10b) + 10b

24) (2x7 +27x° + 3x°) =+ 9x
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x 1
1) 4x* +— +—
2 2

5n*  n® 3n?

5) — +—+—
6 2 6
1 3 5

9 —+—+—

)2 n n?

a3
13) 5y +a’+5a

n 1 2
17) —+— +—
3 3 n

2
21) 3r2+r+§

Answers to Assignment (ID: 5)

2) n® +5n% +4n

1
6) r+2+—
2r
5
10) 4v+1+—
v

1 1
14) 1+—+—
ok 2k

3 2

18) p_+p_+£
4 2 2

22) 2b* +2b + 1

LT wsgsgs ath-vsorlsheel ory

k? 1
3) — +5k+—
10 10

1
7) 3X+2+—
3X

1 2 5
11) —+— +—
)5 X X2
15)l+i+L
4 2x X2

me
19) 7 + 5m5 +2m4
3
n
23) — +n%+n
2

4) 2p2+§+2

2
8) m—+2m+4
2
4
12) 5b+1+E

32
16) 5+— +—
X X

4
20) X+5+—
X

2x° x*
24) —— +3x° + —
9 3
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ID: 6

Name
Assignment Date Period____
Divide.
1) (4n®+3n%+18n) = 6n 2) (4b® +2b* +3b%) + 4b
3) (4v3 +5v% +8v) + 4v 4) (2x3 +2x% +2x) + 10x
5) (16a° +40a* + 24a) + 8a> 6) (30k> + 24k* + 3k?) = 6k>
7) (3p +2p?+30p) =+ 10p? 8) (2x3 +4x% +32x) + 8x>
9) (9n* +2n* +3n?) + 9n? 10) (4x* + 16X + 4x2) = 4x>
11) (2r* +8r* +r?) = 8r? 12) (2m® + 18m? + 2m) = 6m°
13) (40n* +20n° +30n?) = 10n° 14) (3x3 +4x% + x) + 4x°
15) (30b* + 4b* + 4b?) = 10b° 16) (24x* +4x> + 18x%) + 6x°
17) (3v® +40v? + 24v) = 8v° 18) (24n° +6n? +2n) = 6n
19) (20a* + 4a’ + 8a?) + 4a> 20) (18K + 36k> + 5k) + 9k*
21) (5%° + 3%% + 3x) = 9x 22) (20n> +8n% +2n) + 4n
23) (16x° +3x% + 2x) = 8x 24) (4m> +30m? + 24m) + 6m
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Answers to Assignment (I1D: 6)

2n* n b 3b* Sv x> x 1
1) — +—+3 2) b*+— +— 3) VP4 42 4) — += +—
3 2 2 4 4 5 5 5
3 k 3 1 3 x 1 4
5) 2a+5+— 6) 5k +4k* +— 7) CLINNL 8) — +— +—
a 2 105 p 4 2
2n 1 10) X* +4x+ 1 r 1 13 1
9 n®+— +— ) 11) — +1+— 12) — +— +——
4 8 3 m 3m
3 3 1 1 2 2 2 3
13) 4n+2+— 14) —+—+— 15) 3b+— +— 16) 4x+— +—
n 4 X 4x 5 5b 3 X
3.5 3 1 19) 5a*+a+2 4 5
17) = +— +— 18) 4n* +n+— ) 20) 2+— +——
8 Vv v 3 k 9k
52 x 1 1 3x 1 2m?
21) — + = +— 22) Sn*+2n+— 23) 2x* +— +— 24) +5m+4
9 3 3 2 8 4 3
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math-worksheet.org



Assignment

Divide.

1) (3x% +9x% +27x) + 9x

3) (12b® +4b? + 2b) + 6b?

5) (9n° +4n> +36n*) = 9n

7) (5r° + 121 + 4r) = 4r?

9) (6x* +3x3 +30x%) + 6x°
11) (4v +24v* + 40v) + 8v?
13) (12p* +5p° +2p?) = 6p°
15) (16x° + 12x% + 16X) =+ 4x°
17) (2r* +2r3 +r?) = 8r?

19) (x® + 8x° + 4x*) = 8x°

21) (3x* +2x* +2x) + 9x

23) (12v* + 16V° +2v?) + 4v

2 gegsus. path-worsheet.ory

Name

ID: 7

Date Period

2) (2p*+5p*+5p)=10p

4) (20n® +5n2 + 50n) + 10n>

6) (16x° +4x* +2x3) + 4%

8) (4a® +2a% + 16a) + 8a’

10) (5x* + x* +10x?) = 10x°

12) (4a’ +45a” + 4a) + 9a°

14) (k> + 3k? + 45k) + 9k

16) (2n* +2n® +n?) =+ 4n?

18) (5m* +5m? +2m) = 10m

20) (18n*+12n° +n?) = 6n°

22) (2n* +3n? +30n) = 6n

24) (10b7 + b® + 10b°) + 10b
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2
X

1) — +x+3
3

4

4n
5) n° +— +4n°

1 5
9) X+— +—
2 X

1
13) 2p+§ +—
6 3p

rr r 1

17) — +— +—
4 4 8
2
X 2x 2
21) — +— +—
39 9

Answers to Assignment (ID: 7)

X
6) 4% + X7 +—

x 1 1
10) —+— +—
2 10 X

2
n“~ n
22) —+—+5
3 2

LT wsgsgs ath-vsorlsheel ory

3) 2b+% +L
3 3b

Sr 1
7) —+3+—
4 r

v 5
11) — +3+—
2 v

3 4

15) 4+— +—
X X

4 2

X X

19) — + x> +—

8 2

3 2, v

23) 3v° +4v +5

4 5 4
12) —+—+—
9 a 9a

n> n 1

16) — +— +—
2 2 4

1
20) 3n+2+—
6n

5
24) b° 2
10
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Assignment

Divide.

1) (2k> + 16k> + 4k) + 4k

3) (50%3 +5x2 +30x) + 10x
5) (30m* +m? + 30m) =+ 6m>
7) (2n® +16n* + 40n°) = 8n?
9) (5x* +12x3 +20x3) = 4x°
11) (24r® +5r% +8r) + 8r°
13) (2a’ + 3a® + 40a) + 10a°
15) (3% + x* + 3x) = 9x°
17) (12a* + 16a° +20a?) = 4a
19) (2k> + 4k* + 12k3) = 4k°
21) (8n®+16n° +32n*) = 8n
23) (2r° +4r* +5r%) = 10r
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ID: 8
Name

Date Period

2) (40X +20x% + 4x) + 10x?

4) (4a° +24a> +a)+ 8a

6) (2p° +6p% + p) + 6p°

8) (2x3 +4x% +x) = 4x*

10) (2b* + 5b> + 50b?) = 10b°

12) (3n® +45n? +9n) = 9n°

14) (45v3 +v2 +9v) + 9v?

16) (3n° +5n2 +2n) = 6n°

18) (10p* +40p> + 10p?) = 10p

20) (2x° +24x% + 12x) = 6X

22) (2%° + 4x2 + 3x) = 8x

24) (6m> +2m? + 24m) = 6m
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k2
1) — +4k+1
2
1 5
5 Sm+—+—

5X 5
9) — +3+—
4 X

1 3 4
13) —+—+—
5 10a a

17) 3a’ +4a’ + 5a

21) n° +2n* +4n’

Answers to Assignment (I1D: 8)

2
2) 4X+2+—
5X

6)£+1+L
3 6p
10)E+l+§
5 2 b

1 1
14) 5v+— +—
9 v
18) p* +4p*+p
2 x 3

X
22) — +— +—
4 2 8

LT wsgsgs ath-vsorlsheel ory

X
3) 5x*+—= +3
2

03
7) — +2n* +5n

5 1
11) 3+ — +—
) srr?

1 1 1
15) —+— +—
3 9x  3X
2

K
19) — +k+3
2

r* 2rr r?

23) —+—+—
5 5 2

20) X?+4x+2

m
24) m2+? +4
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ID: 9

Name
Assignment Date Period
Divide.
1) (4x® + x> +20x) + 4x 2) (3n* +3n% +9n?) +9n
3) (18b* +2b? + 4b) = 6b? 4) (V3 +2v? + 8v) = 8v2
5) (10n° +40n% + 2n) + 10n? 6) (2a° +3a* +5a%) + 10a
7) (4k® + 5Kk? + 2K) + 8k> 8) (2x* + 12x> +20x?) + 4x>
9) (4x> +3x%+x) = 6x° 10) (2p° +2p* +30p%) = 6p°
11) (1607 +2n° + 4n°) = 4n° 12) (27m* + 4m? + m) + 9m?
13) (10p* +5p° +4p?) = 10p° 14) (4x° +5%° + 4x*) = 8x°
15) (4n® +12n? + 4n) = 4n? 16) (5b° + 12b* + 6b°%) + 6b°
17) (45%° + 9x% + 18x) + 9x> 18) (3n* + 18n% +9n) = 9n°
19) (2a’ +a%+12a) = 6a 20) (40r* +5r3 +2r?) = 10r?
21) (4x> +2x* + 8x) + 4x 22) (32n° +2n% +24n) + 8n
23) (2x* +40x° + 3x?) = 10x 24) (4v* +4v3 +2v?) = 4v
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Answers to Assignment (I1D: 9)

3 2
X n
1) X*+=+5 2) — +— +n
4 3 3
1 a’ 3a’ a
5 n+4+— 6) — +— +—
Sn 5 10 2
2 1 1 2
9) —+—+— 10)p—+£+5
32X 6X 33
1 2 x* 5x* X
13) p+- +—= 14) — +— + =
2 5p 2 8 2
2 1 2 1
17) 5x+1+— 18) - +—+—
X 3 n n

X n
21) x2+5+2 22) 4n2+Z+3

-l
</ gsgsgs ath-wsrisheel.crg

3) 3b+l +i
3 3b

k 1
7)—+§+—
2 8 4k
3

n
11) 4n* ot n?

1
15) n+3+—
n
2
a~ a
19) — +—+2
3 6
3

X 3x
23) — +4x* +—
5 10

X
8) — +3x+5
2

4 1
12) 3+—+—;
O9m  9m
2

16) %+2b+1

1
20) ar el
2 5

v
24) v3+v2+5
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ID: 10

Name
Assignment Date Period____
Divide.
1) (4k® + 2Kk + 2K) = 4k 2) (40x° +30x% + 30x) + 10x>
3) (9n° +36n2 +3n) = 9n? 4) (5p*+5p> +2p?) = 6p?
5) (2r* +30r + 18r2) = 6r> 6) (9m> +9m? + 18m) = 9m?
7) (4x* +2x° +4x%) = 4x? 8) (8n* +20n* + 12n) = 4n°
9) (v*+32v3 +32v%) =+ 8v° 10) (2n° +12n° +3n*) = 6n°
11) (3x3 +4x2 + 4x) + 8x° 12) (4b> + 40b* + 2b) + 10b°
13) (9p°> +5p* +3p%)+9 14) (2x* + 6x% + 6X) + 6X
15) (2a’ +20a’ + 2a) + 10a° 16) (k° + 16k* + 12k%) + 4k>
17) (4m® +3m? +2m) + 4m® 18) (8n° +8n* +4n3) = 8n
19) (2x* +40x> +2x?) = 10x 20) (30p° +5p* +20p%) +10p
21) (6b* +b? +30b) = 6b 22) (9n® +3n> +4n) = 9n
23) (20x* + 8> + 4x?) = 4x 24) (18r° +18r2 +2r) = 6r
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Answers to Assignment (ID: 10)

k 1 3 1 5p> s5p 1
1) kK +— +— 2) 4x+3+— 3) N+4+— 4)L+—p+—
2 2 X 3n 6 6 3
r’ 2 X 5 3
5) — +5r+3 6) m+1+— 7) X2+ +1 8) 2+— +—
3 m 2 n n
v 4 n’ n 31 1 2 4 1
9) — +4+— 10) — +2n* +— 11) —+— +— 12) = +—+—
8 v 3 2 8 2x  2x 5 b 5b
s5p*  p’ X 12 1 K’
13) p5+i+p— 14) — +x+1 15) — +— +—5 16) — +4k* + 3k
9 3 3 5 a 5a 4
3 n x> X 3
17) 1+— +— 18) n*+n’ +— 19) — +4x* +— 20) 3p4+p— +2p?
4m  2m 2 5 5 2
b n 4 23) 5% +2x% + x 1
21) b2+g+5 22) n2+§ ty ) 24) 3r2+3r+§
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